Name:_______________________________________ Date:______________________ Period:__________

Factoring When The Middle Term is Negative

Factor the given quadratic.
1. x2 – 6x + 9
Factors:______________________________
	
	

	
	




1. x2 – 18x + 81
Factors:______________________________
	
	

	
	




1. x2 – 12x + 35
Factors:______________________________
	
	

	
	




1. x2 – 17x + 70
Factors:______________________________
	
	

	
	




1. x2 – 27x + 140
Factors:______________________________
	
	

	
	




1. x2 – 4x + 4
Factors:______________________________
	
	

	
	




1. x2 – 7x + 12
Factors:______________________________
	
	

	
	




1. [bookmark: _GoBack]x2 – 43x + 460
Factors:______________________________
	
	

	
	



